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� ax2 + bx+ c = 0 ⇒ x =
−b±

√
b2 − 4ac

2a

�

d

dx
(cf(x)) = cf ′(x)

�

d

dx
(f(x)± g(x)) = f ′(x)± g′(x)

�

d

dx
(f(x) · g(x)) = f ′(x)g(x) + f(x)g′(x)

�

d

dx

(
f(x)

g(x)

)
=

f ′(x)g(x)− f(x)g′(x)

(g(x))2

�

d

dx
f(g(x)) = f ′(g(x)) · g′(x)

�

d

dx
(c) = 0, if c is a constant

�

d

dx
(xn) = nxn−1

�

d

dx
(ax) = ax · ln(a)

�

d

dx
(ex) = ex

�

d

dx

(
ekx

)
= k · ekx, if k is a constant

�

d

dx
(sin(x)) = cos(x)

�

d

dx
(cos(x)) = − sin(x)

�

∫
k dx = kx+ C, if k is a constant

�

∫
xn dx =

xn+1

n+ 1
+ C, when n ̸= −1

�

∫
ax dx =

ax

ln(a)
+ C

�

∫
ex dx = ex + C

�

∫
sin(x) dx = − cos(x) + C

�

∫
cos(x) dx = sin(x) + C

�

∫
1

x
dx = ln(|x|) + C

�

∫
k dx = kx+ C, if k is a constant

�

∫
c f(x) dx = c

∫
f(x) dx, if c is a con-

stant

�

∫
f(x)±g(x) dx =

∫
f(x) dx±

∫
g(x) dx


